
1 COV-M5-NAD-V1 1

2 FOAM-COUMSER-TOP 1

3 FOAM-COUMSER-WAL 1

4 FOAM-CYLM5 1

5 BRA-MTR-M5-V1 1

6 BRA-MTRRING-M1F-V1 1

7 GAS-MTRRING-SIL-V1 1

8 MTR-288 OR MTR-289 1

9 POL-MTR-M5-V1 1

10 GAS-MTR-5.7 1

11 PIP-01 1

12 PIP-39 1

13 GAS-PIP39 1

14 PAD-MUSUP-TOP-V3 1

15 MUSUP-V2 1

16 Sticker 1

17 PIP-89 1

18 GAS-PIP89 1

19 GAS-CAN-V1 1

20 PIP-11ALU-M5-V1 1

21 PIP-62 1

22 FD-12.5L 1

23 FP-12-NAD/LUM/NDR 1

24 PLG-110/120 OR PLG-220/240 1

25 PIP-STR/EG11 OR PIP-STR/SR6R1 1

26 1

27 G

27.5 LV-SOCKET

AS-PCB 6114-V1 1

1

28 CAN-M5-NDR-V1 1

29 BRA-SUPCAN-V1 2

30 CANSUP-M2-V1 2

31 Screw for PIP-39 M4-12 4

32 Screw for Cover M6-30 1

33 Ground screw M4-20 1

34 Screw for POL-MTR M5-16 8

35 Alu rivet （Alu Pin） M4-13 4

36 Alu rivet M4-12 8

37 Alu rivet M3.2-6 2

38 Stainness steel rivet M4-12 4

39 ST4.8-38 ST4.8-38 3

40 Washer Nylon M4 4

41 Nut Nut M4 3

42 Nylon washer M4 1

43 Star washer M4 4

44 Washer M4 2

45 Big waher M4 8

Central Vacuum BOM for OVO 630
# Name QTY

Fastener

27.5

6114-18HF(OLD STYLE) 6114-19HF(NEW STYLE)OR 


